5.1 Midsegment Theorem (work).notebook November 15, 2023

S5.1 Midsegment Theorem

A midsegment of a triangle is
a segment that connects the midpoints
of two sides of the triangle.

Activity Cit-‘-;ﬁ \/_,sz_z) Mdpt Formula

Plot the following points: C(-1,4), D(5,2), & E(3,0). Connect to form a triangle.

O ——

Fi ind<he midpoint of CE and jame it Q.

-]+ + > (1,2)
Q

)

Find the midpoint of CD_.and name it P.

<;1+5 Li+z) N (2#3)

2, 2
Plot and connect points Q and P.
Find the ler?éth( o}ﬁé &(rg DE.CY'I'Y' )?
Pa=J(2-1)*+(3-2)*
JT+T pe=f(3-9+(0~2)?
T SLEX

What do you think the relationship is between these lines?

M n
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Theorem 5.1 Midsegment Theorem

The segment connecting the midpoints of two
sides of a triangle (midsegment) is parallel to
the third side and is half as long as that

side. o
md pt
£B
A D
md pb
BE is the {
BE is parallel to _"~ CD :
BE= 2CD orCD=_2BE .
Example 1
KP is a midsegment of /A ABC.
Find the value of x. kp= L Ac
B or

N AC= 2 KP
KNP x=12.5

25 C
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Example 2

KP is a midsegment of /AABC.
PK= 1 AB

Find the value of x.

Example 3
Fill in the blanks.

|

B WY £ YR

G
Y//%G YU // E_—M
N X T
wW- " U ™ M GY: WU = YM

GU/ _WB
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Example 4 . .
Use NABC, where JK and KL are

midsegments. Find JK and AB.

Th= ZAC
JK=%5-10=5
AB = 2 LK
AB=172 -6 =12

Example 5
Use AMNO, where X, Y, & Z are

midpoints of the sides.

If YX=3x-4
X@/\Z %‘\% and MO = 9x - 20,
RN\ find MO.
) % mo=2-xy
[:\ﬂ/)o=9(3)~20 9x-20= 2 (3x-4)
0= )b -90= 64—
K i T

X = -
V20 -I-Zg

PR b
S SRS
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Example 6
Use AMNO, where X, Y, & Z are
midpoints of the sides.

QN M
/\ fYZ=2x+3
and MN = 5x - 14,

@*-

X Z
GV A\ [find YZ.

N Y © yz= 4 mN

1252200 %3 5418 = 4 (Bx-14)

| TEX 72X

pELS7 Sl 4
-2 . —3x=~lo" ~%
X=20

Example 7

Use AMNO, where A, B, & C are
midpoints of the sides.

N If AB=3y-5
and OM = 4y + 2,
B @ (find MC.
AB= 3 OM

M.\C/. O 3\/~S=Ji("ly+2~>

Rl 3-5=%7’+!
. -
MC= 5(6 ) -5 \I'-S =

l
WC-" I3 +5 +5
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